
Q1) a) Using source transformation, convert the given network in fig.1 with a
single current source and a resistor. [5]

fig. 1
b) Using Nodal Analysis, determine the current through the 5 resistor for

the network shown in fig.2 [5]

fig. 2
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[6186]-514 2

c) Find the current in the 4 resistor shown in network of fig.3. [5]

fig. 3
OR

Q2) a) Using super mesh analysis, Find the current in the 3 resistor of the
network shown in Fig.4. [5]

fig. 4

b) Using superposition theorem, find the current through the 3 resistor in
Fig.5 [5]

fig. 5
c) State and explain Maximum Power Transfer theorem with suitable

example. [5]

Q3) a) What is the significance of Initial conditions? Write the note on initial
conditions in the basic circuit elements. [7]
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[6186]-514 3

b) In the given network of fig.6, the switch is closed at t = 0. With zero
current in the inductor, find i, di/dt and di2/dt2 at t = 0+. [8]

Fig. 6

OR

Q4) a) Derive the equation for the Complementary Solution for current through
inductor for driven R-L Circuit. Draw natural Response of the Circuit
for various values of t. [7]

b) In the network of Fig.7 the switch is closed at t = 0. With the capacitor
uncharged, find value for i, di/dt and di2/dt2 at t = 0+. [8]

Fig. 7


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